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[Biodiversity (Microbes, Algea,
Fungi & Archegonitac)]

Full Marks : 40 Time : 2 Hours

The figures in the margin indicate full marks.
Candidates are required to give their answers
in their own words as far as practicable.
Illustrate the answers wherever necessary.

1. Answer any. Jive of the following : 2x5=10
(a) Define heterocyst. State its function.

(b) What is called heteromorphic alternetion of
generations?

(c) Define peristome teeth. State its function.

(d) Give the casual organism and the symptoms of
car]_y bljght of potato.
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(2)

(e} Write note on synszoosopors,
(f) What are sulphur slower & coralloid roots?
(z) Define mesosome and episome.

(h) Distinguish between heterosporous and
homosporous pteridophytes.

. Answer any four of the following : 5%4=20

(a) Elaborate the range of thallus organisations found
in Bryophyts.

(b) Write the basis to classify gymnosperms upto
family.

(c) Discuss Ecological inpertances of mycorrhizae.

(d) Describe defferent reproductive structure found
in Lichens.

(e) Discuss different types of Sexual reproduction
found in Chiamydomonas.

(f) Describe the conjugation process in bacteria.
- Answer qny one of the following - 10x1=10

(a) (i) Comment on the anatanical features of the
needle of Pinus. 5



(3)

() Present the heterospory and the seed habit
found in pteridophyts. 3+2

() (@ Give the economic importance of Algae.

(i) Describe the structure of fruit body of
Agaricus.
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